INSTRUCTIONS

Installation and debugging
strategy

from novice to semi expert
MINER EEF Y
TR EIRS

f
HIERYSF
EEBEREC T TE

Real master
The cars are extremely personalized

Bzl IS

EIRSEFT A RAIN FERER
General installation details and skills
Application effect brought by vehicle parameter adjustment

MXBFIGEL RN ECZ B

From here, walk out of your personalized road







PARTICIPATE IN EVENTS

S5/{IIERSMHINTE

S5

GT86+V3 SUPRA+V3 GTR34






About
Playing

BRIt



ABOUT
RW 00

P mAYER

&7 I—XRL
%5 OSN IR HE B T A MAOR EIFINE 1,

EREXR, RTIW—EF4L.

REATRE

T EFOABAER, LREZET
BERTRSHFREANTR. BB
LA LB RWOOF EELEE, 1LAR
tbREIXGRE

FIEMABRMNHEBFNAREE, &R
ESUARRRAEHENZR, BF litaraction
BARTUBECHRENRTAFLS
DR,

SRR 04
il

BREENRE
BBMBERE, HTRR—MELH
%, FRZETUBLBELD— R
ABECTRER, RENBTERE
2R BMEA,




01 COMMON TOOLS
ERAIR

ERNIAFTL,

fian: 7). W\, FH.
Wik, ERRER, EFR
L EnEREEAE,

IEIREFIRMAYEERE, B
. BB, Y. FEiR{
B MR B i By €5 i —

MERIEY TR,

iR
02 ELECTRONIC

ER ENETDIES
T8, SBENSFX
Bx, W¥/ERISCRRELRA

WR,

FREH
04 TUNING CAR

03 INSTALL
LA LR

R T MANZRIRE, EiF
HTE—LERAME.
IS,

s

05 DEVICE SETTINGS
REFIRE

BFRENSNoE, R
IFRFRRR. BFeHER
TEREENEEMRN S
Li= =t

FRrER &M TERRE
His. HhEmmEE. Hik
AE, HEpEREIAE,

HikE 2z @RS,

B i
06 DRIFT ROUTE

— iR IE E L REaY B
HEE . FREEER, X

07 SKILL
BRI

Wi T8-S
15, BEEMMRANE
U EERE.

Bz E AR TS

RS LL IR



Treatment of hall connector
BRSKHOLLER

During installation, if the ball connector is stuck or not smooth,
You can use pliers to clamp it gently at multiple angles.
It feels that there is a complete fit between metal and plastic.

ELZZRNEIEF |, ANRBRIBESLHININ-RECAITEE |
TJLARH  SRERRX—T. NEARKERS
BRlZElElEE.




RWO00
install

RWOOZEZRHES



2-M2x5
RH Screw

4-M2x3.5
Ball Connector

2-2x2.5x3.1
Guide sleeve

2-2.6x5x0.1
Shims

IRIESEPRIEN | IR A HE,
LAipAE |, RERMER,
Select the number of installed gaskets
according to the actual situation.
Mainly smooth and minimize the gap.




2-M2x6
Set Screw

*

2-10mm /

Ball Head

‘<—10mm —>

2-M2x4
RH Screw

2-1.5x14
Pin

2-M2x3

Stud
RIEE R ErE R
Select installation according
to vehicle width

AR50 | BT/ NEPE.
Mainly smooth, and adjust
the minimum clearance.



2-10mm
<«—10mm-—> Ball Head

2-M2x6
Set Screw

2-M2x3.5
Ball Connector

2-1.5x16
Pin

4-1.6x3x0.3

Shims 2-M2x3
RIESCEREN, BTLASEIREIEINT.6x3x0. 18,
LURSEAE, RERDERE, Stud
According to the actual situation, 1.6x3x0.1 gasket Rt e Rt
can be replaced or added, :

: s Select installation according to vehicle width.
Mainly smooth and minimize the gap.




LAz , AR EESI\ER,
Mainly smooth, and adjust
the minimum clearance with shims.



2-M2x4
CS Screw



2-M2x4
CS Screw




RIESEIRER | R RERRHE.
LA#z9E | RERER.

Select the number of installed gaskets
according to the actual situation.
Mainly smooth and minimize the gap.

4-2.6x5x0.1

Shims

3-M2x3
Ball Connector

Alzf)

Movable

2-M:
? RHS
! 2-2Xz
g M Guide

1>

1)

2-M2x5
RH Screw .

2-2x5x2.3

Bearing N\

3-M2x3
Ball Connector

a5
Movable



2-M2 AETIARE | (RIEIEZF0ERRD,

Nut The tightness can be adjusted to
' \ <y . ensure smoothness and less clearance.
2-3x6x2 | &=
K@D Bearing
R Silver &= Yellow
32 /
; 2-M2x5

2-3x6x3 / Copper Column
— \l’ Plane bearing ;. FEEIE TR
30 Fixed on the base

' . plate first
FEAE , 3.0”FLET

Pay attention to the direction, )
and the inner

hole of 3.0 is downward

1. FciBIgesTH,

2. BAEBREIRTT.

3. BiITRRL,

1.Loosen the screws first.

2.The installation of steering assembly is completed.
3. Tighten the screws again.

Installation scheme 1

It R — LR ERIER |
AT iR EC RN DRI EIRE,
ENERTER AN E  FTED,

N
The gasket acts like a spring, 1
Used to reduce the clearance N @
of the steering mechanism. i’

AN 2-M2x12

CS Screw

2-M2x5
Copper Column
FeEIE T ER
Fixed on the base
plate first

Installation scheme 2

2-M2x5
CS Screw

|
G D]
The number of gaskets can be selected = e 4-2x4x0.1
to adjust the pressure. | & Shims
B |

iREs Silver =& Yellow
32
2-3x6x3
Plane bearing S S \L
e

FE B, 3.0R”FfLET

Pay attention to the direction,
and the inner

hole of 3.0 is downward

M2x5
CS Screw



2-M2x6
RH Screw

2-M2x4
CS Screw

EERFPA, feERERE.
The remote control returns to the middle position,
and the steering arm angle is to the right.

M2x3
Ball Connector

M2.5x4

& 2 CS Screw




AT+ JUALE e e ret
Clockwise installation Counterclockwise installation

7.5mm

7.5mm
Ball Head

M1.6x11
Short

4mm

4mm /
Ball Head




4-M2x4
CS Screw




2
0
N &
> T
N X

=
—

—
-

I.-I-IIIIIIII-II
=

2-M2x3.5
Ball Connector




Shock absorber angle effect

1. At the hole position close to the inside,

2. At the hole position close to the outside,
the turn in reaction is slow, and the out turn points to the bend.

B A ER
1. AL, ABRENR, HEREBIME,
2, EIMIFLAL, ABRMNIE, HSERAS.

Handle the clamping line of the
shock absorber rod to be smooth.
IR ETHSIREE R
7.5mm
Ball Head

[ENE e

Clockwise installation

=

=

M1.6x11 /

—22mm Short

___.m

7.5mm

Ball Head TERT e At
Counterclockwise installation

the turn in reaction is fast, and the out turn points to the outside.

7.5mm

{ 2.5mm

7.5mm

{ 2.5mm




6-M2x3.5

P 1 Ball Connector
|

\j])

~— 2-2x4x1

i
1
B .
i ot Shims
N en))
=
4
]
1




FRERE | HRATESEE
After adjusting the vehicle width,
the reference value of steering tie rod:

Stud 3mm=21.3mm ( Original factory/&] )
Stud 4mm=22.5mm

/

LA S8R E(EROPH- <AL,

The following parameters require @
the use of OP parts - extended tie rods. ~

Stud 5mm=23mm @

Stud 6mMm=23.8mm
Stud 7mm=24.5mm

Optinonal 177mm tie rod

IR,
Adjust according to
the body width.

4mm.

PR et &3

Counterclockwise installation
2-Amm
Ball Head

S
oN

N 2=
Clockwise installation \
m— 2_75mm 2L-M1.6X13
Ball Head ong
l 2.5mm




,/
(ERRRERTTRE CiB
Sand smooth with
sandpaper
| SHEROKRETE— KRR L |
BRAFSLLE  NERESH L,
First drop the glue on a piece of waste paper,

then dip it with a toothpick
and apply a small amount on the parts.

s IR MFBRLHTALR | EINRERNERK , BE/NE. FEFAERAAE.
¢ This part needs to be assembled first.
Use a small amount of glue on the outer layer to fix the outer ring.
Be careful not to point in the inner ring.




Differential mechanism
ZEIREE

Bearing

SRR, EWTIES.
After locking,

i M2x4 : :
Bearlng the vehicle runs in.

\ RH Screw
ZIEHEEEEE

3x6x2

10-1.9mm
Ball

6x10x2.5
Bearing

Description of differential damping effect
ZIHR 25 EE BRI B

1. The damping effect is large, the rear of the vehicle is easy to adjust the angle,
and the vehicle accelerates slowly.

2. The damping effect is small, it is difficult to adjust the angle at the rear of the vehicle,
and the vehicle accelerates quickly. (differential oil is not recommended)

1. HEHERX, FREAEAESS, FWINEE.
2. PHEXER/N, ERAEAERME, ZFEWMINER. HEFAERZERER)







2-2x5%2.5
Bearing

2-2x4x0.3

Shims




HEREZSE, 101 BE.

Can be installed in front and back, 10 angles.

Motor installation mode
Ea 2SS

1. When the motor is behind, the vehicle accelerates quickly
and the initial reaction at the rear of the vehicle is slow.

2. The motor moves forward, the vehicle accelerates slowly,
and the initial reaction at the rear of the vehicle is fast.

3. The motor is set high, the initial response at the rear of
the vehicle is fast, and the stop drift state is fast.

4. When the motor is set low, the tail reacts slowly
and stops drifting slowly.

. BY\SEE, FWINER, FRERBRAIE.
. EEH\SERT, FEEINEENE, FRERIMRAIR.
. FBEE, FERENRMNR, SFLTRIASR,
. BYRE, FRERMAME, FILERIEE.

hWN =

¥EFF Recommend

AT

¥ Recommend




3X6X2
Bearing

2-M2x5

RH Screw I
SRS Bej;rfn

Gear drive installation mode 9

FHEasITELT, 2-M2x5
Installation mode of belt drive RH Screw



Belt drive Installation mode
RERHMERNZEE =

WEAEEhZEETT =
Gear drive installation mode



Belt drive Installation mode
R EThZ2E =

3x6x2
| Bearing

| M2x4
RH Screw

A IE NN

Can increase smoothness

Optional Timing helt 36T

Gear drive installation mode
SESIEThZES =R,

3x5x0.5
Shims 3x6X2

./ Bearing 7
[@*\\\

~

M2x4




Belt drive Installation mode

SR I Ere Y = X

W ERhZEES =
Gear drive installation mode




4-M2x4 — 7
CS Screw tt ]’

Belt drive Installation mode
RRHEahZ A=,

e ERhZES T
Gear drive installation mode



Belt drive Installation mode
B EahZ&=A=\

W %= A=,
Gear drive installation mode

Gear mode features: HieER4F S EHiRAITR Belt mode features:
. I—l %I LARAY =
1. The car reacts quickly. 1, KRR, 1. EWREE. 1. The car reacted slowly.
2. It is difficult to accelerate. 2, fFigmmiEE . 2 ITRMERSH. 2. Easy acceleration.
3. The noise is a little loud. 3, EZRKX. 3. EEWwWL. 3. Less noise.

M2x4
CS Screw

M2x4
CS Screw



4-M2x5

RH Screw




4-M2x3.5

2-M1.6x3

Ball Connector RH Screw
4-3x6x2
Bearing

mEpiEsh, WMRE, BAIRE—T.
Smooth movement is required.
If it is tight, please scrape it with a blade.

2-M1.6x4
RH Screw

e,




2-1.5x14

Pin

RHFE, BTE.
Clamp with pliers
and press down.

FEI A
Relatively tight

-t}

@

ZEE , BiCPinEY |
BFT—2%i.

After installation, take out the pin,
For the next installation.




FHFE, RTE.
Clamp with pliers
and press down

2-1.5x14

Pin

=3

Relatively tight

Ebis




2-M2x5




2-M2x5

oA fStoeBE

Adjustable rear toe angle

4-1.6x3x0.3
Shims

WRYESCPRENT, BILAEREGIEINT.6x3x0. 18,
LAa £, RERERR,

According to the actual situation,

1.6x3x0.1 gasket can be replaced or added,
Mainly smooth and minimize the gap.



2-M2x5
RH Screw ‘
SEEBRISTE, STEHSIER.

Pay attention to

the direction of the
/’;;‘ magnetic pole and
\ attract the top magnet.

-/

(i

4-M2x3.5
Ball Connector

2-M2x6
Set Screw



Adjust the length and angle of camber link
In the same camber state,

1. The long camber link can stabilize the vehicle body
and maintain the drift for a long time.

2. Short camper link, flexible body
and short drift maintenance time.

3. The camber link on the upper hole has stable body
and long drift time.

4. The camber link in the lower hole has flexible body
and short drift maintenance time.

AECamber linki<ESHE

EHERECamberfPIRET,
1. KACamber link, EBAE. #HFHEEHTEK.
2. fBMCamber link, FEBRiE. H5ZBATEE.

. LEfLAICamber link, ZE5i3E. HRFERAEHL.
. FEfLBICamber link, EHRIE. HFZEATEE.

oW

Adjust the angle of the shock absorber

1. The shock absorption angle is inclined,
the body is stable, it is difficult to adjust the drift angle,
and the drift time is long after closing the throttle.

2. The shock absorption angle is straight,
the body is flexible, the drift angle is easy to adjust,
and the drift time is short after closing the throttle.

AEERSRNAE

1. BRAER, EBRE. ARERAERME.
WG ) SRS AT B,

2. BRAEH, FERE. ARERRESS.
WG ) 4R B R IBAE,



2-M2x5
RH Screw




2-10.5
CVvD

2-3x4.5x0.1
Shims

RIELIRER, ITERERRE.
LAz RE, RERDERE.,
Select the number of installed gaskets
according to the actual situation.
Mainly smooth, and minimize the ga




7.2mm

|
dj?:mm

o &
D 7
II‘\)
83
o 3

2-M1.6x8
Set Screw




Handle the clamping line of the

shock absorber rod to be smooth.
LEEREHFNSIEEENE



R ERS 75
Pulley pit alignment

R AREAR
The belt cannot be too tight

SECER)-RFBNSRY , TSEEAESR,
Gear drive - just install the motor gear, and pay attention to the tight clearance.



2-M2x4

RH Screw \ ?
 §
2-M2x4 J E

CS Screw

2-M2x18
Aluminum
column

CS Screw



4-M2x4
CS Screw

Adjusting length

BERKE



2-3x8

magnet
RS S
<D 2-M2x6
'/—‘ Set Screw
2-M2x10
Aluminum
column
2kt 2-M2x5

ﬁ RH Screw

_/&
2-M2x5

RH Screw




2-M2x4
CS Screw

-
IIIIII..‘
-

=
il..ln-l-l.
-



@

2-3x6x0.5
shim

-
“‘@

4-M2
Nut

EEXNRER

Left and right symmetrical installation






Installation scheme of hattery rack
iR R TR 01

This scheme focuses on the
steering ability of the front

75 S FE LR LA RIRE

2-M2x5
RH Screw

\ny‘

\

5

o
o
2-2x2.5x3.1

CS Screw Guide sleeve

2-M2x6
Set Screw




Installation scheme of hattery rack

N = - =
R SRRIR RS 02
o This scheme focuses on the
é—_Zr?nlg steering ability of the front
HhRFEFLIEMEE

2-M2x5 /

RH Screw

2-2x2.5x3.1
Guide sleeve

Set Screw

2-M2x10
Aluminum Column




Installation scheme of hattery rack

2-M2x5
RH Screw

2x1
O-ring

2-2x2.5x3.1
Guide sleeve

2-M2x10

Adjustable front Aluminum Column

and rear position
ARl e &

RH Screw

BRI 53 03

This scheme focuses on the initial
drift ability of the rear of the vehicle

tHEEFEFERRIREREE



Options
accessories

SRR



BIEE LTI
1=24mm P
2=23mm 9
3=22mm 4%\\\

8 M2

Set Screw

1 2 3

BEEFLANE, NEEERISED.
Change the support force of the shock

é\@@’ \ M2x3

absorber through the position of the hole. e/ Stud
x M2x3.5

Ball Connector




Options Front axie
OPRIfEHHZEE

wINEE | BILAEINRIEEE.
Adding shims can increase
the width of the front wheel.

2x4x1
Shims

b

f AT
\ /G LA
i
/! N
b 5
\ !
.; =
TN
B
-

)

'S

2x3x.01 or 2x3x0.3
NREIEE , HINAKERER , oTLAEINLEER A,

If it is too tight after installation, such gaskets can be added.




M2x4
/ CS Screw
/ A

BEEEE
Adjustable width



Metal front upper swing arm -



2-M2x5 -
RH Screw

AT

()

Hard




R,

It can be installed in front and back,

with different widths.

AIER%E , IREARE




Soft

Hard




Drift tire

ELEZ S

-1

+7

28mm
SRR B E AR R,
The actual contact area
with the ground is the same.
+7
| 22%26.9Xx9mm

10.5mm 0

22X28x9mm

~ 26.9mm

22X26.5x10.5mm

O

22X28x10.5mm




AIEmEsE | ROE.

Smoothness and concentricity can be increased.




Tuning car

IR



I EEAL O ZR T

1. SR TEERTRELFETTEE

1. First adjust the lower swing arm to be
nearly parallel to the ground

2. LIBRSKAEAZSEY), IERRIAERIREME, ZaXTR.

2. With the ball connector as the reference object, adjust the
steering mechanism to the middle position and be
symmetrical left and right.

Q) -

 E—
L__ga il

.
=~

=4
\

]

!

R

il

-

-
L]
LT
“An
®
&
[ ]

_
L
( J
‘-

3. R PBIAIITRKE.
3. According to the pull rod length
in the instructions.



How to ohserve Ackerman
A EIPUVL Bt

Move the line of sight to the
coincidence of the upper and
lower swing arms for observation.

BB E E FEEEQHITIE.

This is just above, and the upper and lower
swing arms do not coincide.
The observed Ackerman will be incorrect.

XRIELS, LTFEEREES.
M AP 5 S5 A LER.

(% B

R
TEE— —
E—— —
E— comm—

w:
|

®

j \

8 —

L’ 3 \r i
=



How to adjust Ackerman
A EINERR G

ERMIEIRIEASE

Use grid plate as reference

— 1. FangsRMEe , SEEHB e TRIKA.

1. Manually move the inner wheel to find the

— minimum included angle between the two wheels.

BFREEHMABE.

2. Adjust the pull rod of the outer wheel so that
the included angle of the two wheels is close to
parallel, but there can be no negative angle.

TERESMERNLTEE  fFEREF—HLZ.
AR HM WS |, iBERH A ERILE,

Note that the upper and lower swing arms
at the dotted line need to be installed in the
same straight line. If there is an offset,

use pliers to correct the position.

EAERERGE
XRE TS,

Use the same method
to adjust Ackerman
symmetrically.

YEMSRALERE | ARER
BRI MR ELEF,
After the physical Ackerman
adjustment is completed, then
use the remote control to adjust

the steering mechanism to the center.



